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>>

>>

>>

>>

>>1) There are two balls touching each other circumferencically.

>>The radius of the big ball is 4 times the diameter of the small

>>ball. The outer small ball rotates in anticlockwise direction

>>circumferencically over the bigger one at the rate of 16 rev/sec.

>>The bigger wheel also rotates anticlockwise at Nrev/sec. what is

>>'N' for the horizontal line from the centre of small wheel always

>>is horizontal.

>>

>>2)     1 2 3 4

>>     + 3 4 5 5

>>     ----------

>>       4 6 8 9

>>     - 2 3 4 5

>>     ----------

>>       2 3 4 4

>>     + 1 2 5 4

>>     ------------

>>       3 6 9 8

>>

>> Q)  Strike off any digit from each number in seven rows (need not

>> be at same place) and combine the same operations with 3 digit

numbers

>> to get the same addition. After this strike off another digit from

all

>> and add all the No.s to get the same 2 digit No. perform the same

>> process again with 1 digit No.s. Give the ' no.s in 7 rows at

>> each stage.

>>

>>3) there is a safe with a 5 digit No. The 4th digit is 4 greater than

>>second digit, while 3rd digit is 3 less than 2nd digit. The 1st digit

>>is thrice the last digit. There are 3 pairs whose sum is 11. Find

>>the number.  Ans) 65292.

>>

>>4) there are 2 guards Bal and Pal walking on the side of a wall of a

>>wearhouse(12m X 11m) in opposite directions. They meet at a point and

>>Bal says to Pal " See you again in the other side". After a few

moments

>>of walking Bal decides to go back for a smoke but he changes his

>>direction again to his previous one after 10 minutes of walking in

>>the other(opposite) direction remembering that Pal will be waiting

>>for to meet.If Bal and Pal walk 8 and 11 feet respectively, how

>>much distance they would have travelled before meeting again.

>>

>>5)          xxx)xxxxx(xxx

>>              3xx

>>              -------

>>               xxx

>>               x3x

>>               ------

>>                xxx

>>                3xx

>>                ------

>>

>>   Q) Find the 5 digit No.

>>    Hint: 5 is used atleast once in the calculation.

>>6) Afly is there 1 feet below the ceiling right across a wall length

>>is 30m at equal distance from both the ends. There is a spider 1 feet

>>above floor right across the long wall eqidistant from both the ends.

>>If the width of the room is 12m and 12m, what distance is to be

>>travelled by the spider to catch the fly? if it takes the shortest

>>path.

>>

>>7) Ramesh sit around a round table with some other men. He has one

>>rupee more than his right person and this person in turn has 1 rupee

>>more than the person to his right and so on, Ramesh decided to give

>>1 rupee to his right & he in turn 2 rupees to his right and 3 rupees

>>to his right & so on. This process went on till a person has

>>'no money' to give to his right. At this time he has 4 times the

>>money to his right person. How many men are there along with Ramesh

>>and what is the money with poorest fellow.

>>

>>

>>8)Question related to probabilities of removing the red ball from a

>>basket,given that two balls are removed from the basket and the other

>>ball is red. The basket contains blue,red,yellow balls.

>>

>>9)Venkat has 1boy&2daughters.The product of these children age is 72.

>>The sum of their ages give the door numberof Venkat.Boy is elder of

>>three.Can you tell the ages of all the three.

>>

>> 

Aptitude

Q1 .6*12*15 is the volume of some material. How many cubes of edge 3 can be inserted into it ? 

Ans.40 

Q2. Two pipes can fill a tank in 10 and 12 hours respectively while third pipe will make the tank empty in 20 hours. If all three pipes operate simultaneously, in how many hours the tank will be filled ?

Ans.7hours 30 minutes. 

Q3. Cost of an item is x. It's value increases by p% and decreases by p% Now the new value is 1 rupee, what is the actual value ? 

Ans.(1000)/(1000-p*p). 

**Q4. A right circular cylinder and a cone are there. Base radius of cone is equal to radius of cylinder. What is the ratio of height to slant side if their volume are the same? 

Q5. Distance between two poles is 50 meters. A train goes by 48 at a speed of kmph. In one minute how many poles will be crossed by the train ? 

**Q6. A pole seen from a certain distance at an angle of 15 degrees and 100 meters ahead by 30 degrees. What is the height of pole ? 

**Q7. For 15 people--each has to pay Rs.20.For 20 people--each has to pay Rs.18. For 40 people--how much has each to pay ? 

Q8. If p=2q then q=r*r , if p-odd then q is even, whether r is even or odd ?

       a) first condition is sufficient

       b) second condition is sufficient

       c) both are sufficient

       d) both are not sufficient 

/**Q9. If he sells 40 mangoes, he will get the selling price of 4 mangoes extra, What is his percentage increase in profit ? 

Ans. 25% 

Q10. 100 glasses are there. A servant has to supply glasses to a person If he supplies the glasses without any damage he will get 3 paise otherwise he will loose 3 paise. At the end of supplying 100 glasses if he gets 270 paise, how many glasses were supplied safely.

Ans. 95 

Q11. Q is not equal to zero and k = (Q x n - s)/2 find n?

        (a) (2 x k + s)/Q 

        (b) (2 x s x k)/Q

        (c) (2 x k - s)/Q

        (d) (2 x k + s x Q)/Q (e) (k + s)/Q 

**Q. A man leaves office daily at 7pm  A driver with car comes from his home to pick him from office and bring back home  

     One day he gets free at 5:30 and instead of waiting for driver he starts walking towards home.

     In the way he meets the car and returns home on car  He reaches home 20 minutes earlier than usual.

     In how much time does the man reach home usually??

Ans. 1hr 20min

Q  The following truth table is given  What is Y equal to??

A B C Y 

0 0 0 1 

0 0 1 1 

0 1 0 0 

0 1 1 0 

1 0 0 0 

1 0 1 0 

1 1 0 1 

1 1 1 1 

Ans. (A')(B')(AB) , where ' stands for complement.

Q. A works thrice as much as B. If A takes 60 days less than B to do a work then find the number of days it would take to       complete the work if both work together?

Ans. 22½days

Q.  How many 1's are there in the binary form of  8*1024 + 3*64 + 3

Ans. 4

Q. In a digital circuit which was to implement (A B) + (A)XOR(B), the designer implements (A B) (A)XOR(B)  

    What is the probability of error in it ?

**Q. A boy has Rs 2. He wins or loses Re 1 at a time  If he wins he gets Re 1 and if he loses the game he loses Re 1.

     He can loose only 5 times. He is out of the game if he earns Rs 5.

     Find the number of ways in which this is possible?

Ans. 16

**Q. If there are 1024*1280 pixels on a screen and each pixel can have around 16 million colors

     Find the memory required for this?

Ans. 4MB

Q. On a particular day A and B decide that they would either speak the truth or will lie. 

     C asks A whether he is speaking truth or lying?

     He answers and B listens to what he said. C then asks B what A has said  B says "A says that he is a liar" 

     What is B speaking ?

(a) Truth

(b) Lie

(c) Truth when A lies

(d) Cannot be determined

Ans. (b)

Q. What is the angle between the two hands of a clock when time is 8:30

Ans. 75(approx)

Q. A student is ranked 13th from right and 8th from left. How many students are there in totality ?

Q. A man walks east and turns right and then from there to his left and then 45degrees to

  his right.In which direction did he go

Ans. North west

Q. A student gets 70% in one subject, 80% in the other. To get an overall of 75% how much should get in third subject.

Q. A man shows his friend a woman sitting in a park and says that she the daughter of my  grandmother's only son.

    What is the relation between the two

Ans. Daughter

QUANTITATIVE SECTION

1. If two pencils cost 8 cents, then how much do 5 pencils cost?

Ans. 20 cents

2. Some work is done by two people in 24 minutes. One of them can do this work alone in 40 minutes. How much time does the second person take to do the same work ?

Ans. 60 minutes 

3. A car is filled with four and half gallons of fuel for a round trip.If the amount of fuel taken while going is 1/4 more than the amount taken for coming, what is the amount of fuel consumed while coming back?

Ans.2 gallons

4. The lowest temperature in the night in a city A is 1/3 more than 1/2 the highest during the day. Sum of the lowest temperature and the highest temperature is 100 degrees. Then what is the low temp? 

Ans.40 degrees 

**5. Javagal, who decided to go to weekened trip should not exceed 8 hours driving in a day. The average speed of forward journey is 40 miles/hr.Due to traffic on sundays, the return journey's average speed is 30 m/h. How far he can select a picnic spot?

a) 120 miles

b) between 120 and 140 miles 

c) 160 miles 

Ans. 120 miles 

**6. A salesperson by mistake multiplied a number and got the answer as 3, instead of dividing the number by 3.What is the answer he should have actually got? 

Ans. 3

7. A building with height D shadow upto G. What is the height of a neighbouring building with a shadow of C feet.

Ans. (C*D)/G

8. A person was fined for exceeding the speed limit by 10 mph. Another person was also fined for exceeding the same speed limit by twice the same. If the second person was travelling at a speed of 35 mph, find the speed limit.

Ans. 15 mph 

9. A bus started from bustand at 8.00am, and after staying for 30 minutes at a destination, it returned back to the busstand. The destination is 27 miles from the busstand. The speed of the bus is 18mph. During the return journey bus travels with 50% faster speed.At what time does it return to the busstand? 

Ans. 11.00am 

10. In a mixture, R is 2 parts and S is 1 part. In order to make S to 25% of the mixture, how much of R is to be added? 

Ans.One part of R 

11. Wind flows 160 miles in 330 min, for travelling 80 miles how much time does it require? 

Ans. 2 hrs 45 mins

12. With a 4/5 full tank a vehicle can travel 12 miles, how far can it travel with a 1/3 full tank 

Ans. 5 miles 

13. There are two trees in a lawn. One grows at a rate 3/5 of the other in 4 years. If the total growth of trees is 8 ft. What is the height of the smaller tree after 2 years 

Ans. 1 1/2 feet

14. Refer to the figure below.A ship started from P and moves at a speed of I miles per hour and another ship starts from L and moving with H miles per hour simultaneously.Where do the two ships meet? 

||---g---||---h---||---i---||---j---||---k---||---l---||

PG H I J K L are the various stops in between denoted by || . The values g, h, i, j, k, l denote the distance between the ports.

Ans. Between I and J, closer to J

15. If A is travelling at 72 km per hour on a highway. B is travelling at a speed of 25 meters per second on a highway. What is the difference in their speeds in m/sec.

Ans. 1 m/sec

QUANTITATIVE SECTION

1. There are 150 weights .Some are 1 kg weights and some are 2 kg weights. The sum of the weights is 260.What is the number of 1kg weights?

Ans. 40

2. A is driving on a highway when the police fines him for overspeeding and exceeding the limit by 10 km/hr.At the same time B is fined for overspeeding by twice the amount by which A exceeded the limit.If he was driving at 35 km/hr what is the speed limit for the road?

Ans. 15 kmph

3. A moves 3 kms east from his starting point . He then travels 5 kms north. From that point he moves 8 kms to the east.How far is A from his starting point?

Ans. 13 kms

4. A car travels 12 kms with a 4/5th filled tank.How far will the car travel with 1/3 filled tank?

Ans. 5 kms

5. The sum of the digits of a two digit number is 8. When 18 is added to the number, the digits are reversed. Find the number?

Ans. 35

6. The cost of one pencil, two pens and four erasers is Rs.22 while the cost of five pencils, four pens and two erasers is Rs.32.How much will three pencils, three pens and three erasers cost?

Ans. 27

7. Fathers age is 5 times his son's age. 4 years back the father was 9 times older than son.Find the fathers' present age.

Ans. 40 years

8. What number should be added to or subtracted from each term of the ratio 17 : 24 so that it becomes equal to 1 : 2.

Ans. 10 should be subtracted

9. What is the 12th term of the series 2, 5, 8, ....

Ans. 35

10. If 20 men take 15 days to to complete a job, in how many days can 25 men finish that work?

Ans. 12 days

11. In a fraction, if 1 is added to both the numerator at the denominator, the fraction becomes 1/2. If numerator is subtracted from the denominator, the fraction becomes 3/4. Find the fraction.

Ans. 3/7

12. If Rs.1260 is divided between between A, B and C in the ratio 2:3:4, what is C's share?

Ans. Rs. 560

13. A shopkeeper bought a watch for Rs.400 and sold it for Rs.500.What is his profit percentage?

Ans. 25%

14. What percent of 60 is 12?

Ans. 20%

15. Hansie made the following amounts in seven games of cricket in India: Rs.10, Rs.15, Rs.21, Rs.12, Rs.18, Rs.19 and Rs.17(all figures in crores of course).Find his average earnings.

Ans. Rs.16 crore

APTITUDE SECTION

Q1. Mr. Shah decided to walk down the escalator of a tube station. He found 

       that if he walks down 26 steps, he requires 30 seconds to reach the bottom.

       However, if he steps down 34 stairs he would only require 18 seconds to 

       get to the bottom. If the time is measured from the moment the top step begins 

       to descend to the time he steps off the last step at the bottom, find out 

      the height of the stair way in steps?

Ans.46 steps.

Q2. The average age of 10 members of a committee is the same as it was 4 

       years ago, because an old member has been replaced by a young member. Find 

       how much younger is the new member ?

Ans.40 years.

Q3. Three containers A, B and C have volumes a, b, and c respectively; and

       container A is full of water while the other two are empty. If from container

       A water is poured into container B which becomes 1/3 full, and into 

       container C which becomes 1/2 full, how much water is left in container A?

Q4. ABCE is an isosceles trapezoid and ACDE is a rectangle. AB = 10 and EC = 20.

       What is the length of AE?

Ans. AE = 10.

Q5. In the given figure, PA and PB are tangents to the circle at A and B respectively and

       the chord BC is parallel to tangent PA. If AC = 6 cm, and length of the tangent AP

       is 9 cm, then what is the length of the chord BC?

Ans. BC  = 4 cm.

Q6. Three cards are drawn at random from an ordinary pack of cards. Find 

       the probability that they will consist of a king, a queen and an ace.

Ans. 64/2210.

Q7. A number of cats got together and decided to kill between them 999919 

       mice. Every cat killed an equal number of mice. Each cat killed more mice 

       than there were cats. How many cats do you think there were ?

Ans. 991.

Q8. If Log2 x - 5 Log x + 6 = 0, then what would the value / values of x 

       be? 

Ans. x = e2 or e3.

Q9. The square of a two digit number is divided by half the number. After 

       36 is added to the quotient, this sum is then divided by 2. The digits of the

       resulting number are the same as those in the original number, but they 

       are in reverse order. The ten's place of the original number is equal to twice 

       the difference between its digits. What is the number?

Ans. 46

Q10. Can you tender a one rupee note in such a manner that there shall be 

         total 50 coins but none of them would be 2 paise coins.?

Ans. 45 one paisa coins, 2 five paise coins, 2 ten paise coins, and 1 twenty-five paise coins.

Q11. A monkey starts climbing up a tree 20ft. tall. Each hour, it hops 3ft. 

         and slips back 2ft. How much time would it take the monkey to reach the 

         top?

Ans.18 hours.

Q12. What is the missing number in this series?

          8 2 14 6 11 ? 14 6 18 12

Ans. 9

Q13. A certain type of mixture is prepared by mixing brand A at Rs.9 a kg. 

         with brand B at Rs.4 a kg. If the mixture is worth Rs.7 a kg., how many 

         kgs. of brand A are needed to make 40kgs. of the mixture?

Ans. Brand A needed is 24kgs.

Q14.  A wizard named Nepo says "I am only three times my son's age. My father 

          is 40 years more than twice my age. Together the three of us are a mere 1240 

          years old." How old is Nepo?

Ans. 360 years old.

Q15. One dog tells the other that there are two dogs in front of me. The 

         other one also shouts that he too had two behind him. How many are they?

Ans. Three.

Q16.  A man ate 100 bananas in five days, each day eating 6 more than the 

          previous day. How many bananas did he eat on the first day?

Ans.  Eight.

Q17. If it takes five minutes to boil one egg, how long will it take to boil 

         four eggs? 

Ans. Five minutes. 

Q18.  The minute hand of a clock overtakes the hour hand at intervals of 64 

          minutes of correct time. How much a day does the clock gain or lose?

Ans.32 8/11 minutes.

Q19.  Solve for x and y:

          1/x - 1/y = 1/3, 1/x2 + 1/y2 = 5/9.

Ans. x = 3/2 or -3 and y = 3 or -3/2.

Q20. Daal is now being sold at Rs. 20 a kg. During last month its rate was 

         Rs. 16 per kg. By how much percent should a family reduce its consumption so 

         as to keep the expenditure fixed? 

Ans. 20 %.

**Q21. Find the least value of 3x + 4y if x2y3 = 6. 

Ans. 10.

Q23. Can you find out what day of the week was January 12, 1979?

Ans. Friday.

Q24. A garrison of 3300 men has provisions for 32 days, when given at a rate 

         of 850 grams per head. At the end of 7 days a reinforcement arrives and it was 

         found that now the provisions will last 8 days less, when given at the rate 

         of 825 grams per head. How, many more men can it feed?

Ans. 1700 men.

**Q25. From 5 different green balls, four different blue balls and three 

         different red balls, how many combinations of balls can be chosen taking at least 

          one green and one blue ball?

Ans. 3720.

**Q26. Three pipes, A, B, & C are attached to a tank. A & B can fill it in 20 

         & 30 minutes respectively while C can empty it in 15 minutes. If A, B & C 

         are kept open successively for 1 minute each, how soon will the tank be filled?

Ans.  167 minutes.

Q27.  A person walking 5/6 of his usual rate is 40 minutes late. What is his 

          usual time? 

Ans. 3 hours 20 minutes.

 CITICORP(CITIL)

                 ********

Source:REC CALICUT.

SECTION-1

*********

1) For the first qustion in the paper answer is (30).

2)Five trays cost is 0.35 each and dozen----- (ans:Rs13.75)

3)In a journey of 15 miles two third distance was travelled

with 40 mph and remaining with 60 mph.How muvh time the

journey takes...(ans:20 min)

4)A man walks from 9.15 to 5.15 from monday to friday and 9.00

to 12.00 on saturday.Each day 0.45 min lunch.

**4)A man walks from 9.15 to 5.15 from monday to friday and 9.00

to 12.00 on saturday.Each day 0.45 min lunch.

How much time he walks in a week...(ans: 39hrs15min).

5) 12 revolutions takes 1/8 th second time.In 20 seconds how

many revolutions...(ans:1920)

6) In 60 reems of paper 40 reems were utilised then what

percent will remain...(ans:33.33%)

7) A started at 9.00 am with 6 mph and B started at 9.30 am

with 8mph in the same direction.  At what time they will meet...

(ans:11.00am)

8) In a storage stall of 5x3x2inch.How many blanks of size

2x1x1inch can be stored..(ans:15)

9) In a company 3/5 of people know shorthand 1/4th know typing

and 1/5 know both. What fraction of people do not know both..

(ans:35%)

10) A man how many bikes of Rs 14000 can buy by selling 2100

bikes of Rs500/- of each (ans: 75)

10) A man how many bikes of Rs 14000 can buy by selling 2100

bikes of Rs500/- of each (ans: 75)

11) A company requires 11,500 strength.present employees are 200

women ,  men and 6500 unmarried To reach the target how many

women required to maintain the same ratio (ans : 300)

12) What is the time required to punch 1500 cards of 50 column

each at the rate of 10,000 punches per hour (ans:7hr 30min)

This section includes 10 data interpretation questions.For

this you follow the GRE book.In these questions some graphs will

be there and the related questions will be asked...so you

prepare from gre book.

Some qustions are difficult.SO you first do the above qustions

and go to data interpretation.

In the above given paper the meaning of the qustions may be wrong,

but the answers and the numericals in the question are exactly

correct.  so it would be better to remember the answres.

but the answers and the numericals in the question are exactly

correct.  so it would be better to remember the answres.

thta'S all about this section.

NUMBER SERIES: 20 QUESTIONS 7 MINUTES

*************

  These are very easy. Questions are not availeble.

FIGURE SERIES: 20 questions 14 minutes

*************

        THESE ARE ALSO VERY EASY.DON'T WORRY ABOUT THIS SECTION

